



A solution to the problem of invariants for parabolic equations

N.H. Ibragimov^{a,*}, S.V. Meleshko^b

^a Research Centre ALGA: Advances in Lie Group Analysis, Department of Mathematics and Science, Blekinge Institute of Technology, Valhallaevägen, SE-371 79 Karlskrona, Sweden

^b School of Mathematics, Institute of Science, Suranaree University of Technology, Nakhon Ratchasima 30000, Thailand

ARTICLE INFO

Article history:

Received 9 October 2008

Accepted 9 October 2008

Available online 1 November 2008

PACS:

02.30.Jr

02.20.Tw

Keywords:

Parabolic equations

Equivalent equations

Semi-invariant

Invariants

ABSTRACT

The article is devoted to the solution of the invariants problem for the one-dimensional parabolic equations written in the two-coefficient canonical form used recently by N.H. Ibragimov:

$$u_t - u_{xx} + a(t, x)u_x + c(t, x)u = 0.$$

A simple invariant condition is obtained for determining all equations that are reducible to the heat equation by the general group of equivalence transformations.

The solution to the problem of invariants is given also in the one-coefficient canonical

$$u_t - u_{xx} + c(t, x)u = 0.$$

One of the main differences between these two canonical forms is that the equivalence group for the two-coefficient form contains the *arbitrary* linear transformation of the dependent variable whereas this group for the one-coefficient form contains only a *special type* of the linear transformations of the dependent variable.

© 2008 Elsevier B.V. All rights reserved.

1. Two-coefficient representation of parabolic equations

Any one-dimensional linear homogeneous parabolic equation can be reduced by an appropriate change of the independent variables to the following form:

$$u_t - u_{xx} + a(t, x)u_x + c(t, x)u = 0. \quad (1)$$

This form has been used in [4] (see also Preprint in [3]) for obtaining a simple criteria for identifying the parabolic equations reducible to the heat equation by the *linear transformation of the dependent variable*, without changing the independent variables. The present paper is a continuation of the work [4] and contains, *inter alia*, a criteria (**Theorem 1**) for reducibility to the heat equation by the general group of equivalence transformations including changes of the independent variables.

1.1. Equivalence transformations

The equivalence algebra for Eq. (1) is spanned by the generator

$$Y_\sigma = \sigma u \frac{\partial}{\partial u} + 2\sigma_x \frac{\partial}{\partial a} + (\sigma_{xx} - \sigma_t - a\sigma_x) \frac{\partial}{\partial c} \quad (2)$$

* Corresponding author. Tel.: +46 455 385 450; fax: +46 455 385 460.
E-mail address: nib@bth.se (N.H. Ibragimov).

of the usual linear transformation of the dependent variable and by the generators

$$Y_\alpha = \alpha \frac{\partial}{\partial x} + \alpha' \frac{\partial}{\partial a}, \quad Y_\gamma = 2\gamma \frac{\partial}{\partial t} + \gamma' x \frac{\partial}{\partial x} + (x\gamma'' - a\gamma') \frac{\partial}{\partial a} - c\gamma' \frac{\partial}{\partial c} \quad (3)$$

of the corresponding transformations of the independent variables. Here $\gamma = \gamma(t)$, $\alpha = \alpha(t)$ and $\sigma = \sigma(t, x)$ are arbitrary functions, the prime denotes the differentiation with respect to t .

1.2. Invariants

The semi-invariant obtained in [2] is written for Eq. (1) as follows (see [3]):

$$K = aa_x - a_{xx} + a_t + 2c_x. \quad (4)$$

The problem of invariants reduces to calculation of invariants of the form

$$J = J(K, K_x, K_t, K_{tt}, K_{xt}, K_{xx}, \dots) \quad (5)$$

for the operators (3). The generators (2) and (3) become

$$Y_\sigma = \sigma u \frac{\partial}{\partial u}, \quad Y_\alpha = \alpha \frac{\partial}{\partial x} + \alpha' \frac{\partial}{\partial K}, \quad Y_\gamma = 2\gamma \frac{\partial}{\partial t} + \gamma' x \frac{\partial}{\partial x} + (x\gamma''' - 3\gamma'K) \frac{\partial}{\partial K} \quad (6)$$

We use the prolongations of the generator

$$X = \xi \frac{\partial}{\partial t} + \eta \frac{\partial}{\partial x} + \zeta \frac{\partial}{\partial u} + \zeta^{K_t} \frac{\partial}{\partial K_t} + \zeta^{K_x} \frac{\partial}{\partial K_x} + \zeta^{K_{tt}} \frac{\partial}{\partial K_{tt}} + \zeta^{K_{xt}} \frac{\partial}{\partial K_{xt}} + \zeta^{K_{xx}} \frac{\partial}{\partial K_{xx}} + \zeta^{K_{ttt}} \frac{\partial}{\partial K_{ttt}} + \zeta^{K_{xtt}} \frac{\partial}{\partial K_{xtt}} + \zeta^{K_{xtx}} \frac{\partial}{\partial K_{xtx}} + \zeta^{K_{xxx}} \frac{\partial}{\partial K_{xxx}} + \dots$$

and consider invariants of order N (the maximal order of the derivatives involved in the invariant). It is better to use the notation

$$K_{kl} = \frac{\partial^{k+l} K}{\partial x^k \partial t^l}.$$

Then the form of the generator becomes

$$X = \xi \frac{\partial}{\partial t} + \eta \frac{\partial}{\partial x} + \zeta \frac{\partial}{\partial u} + \zeta^K \frac{\partial}{\partial K} + \zeta^{K_t} \frac{\partial}{\partial K_t} + \zeta^{K_x} \frac{\partial}{\partial K_x} + \sum_{k,l}^{k+l \leq N} \zeta^{K_{kl}} \frac{\partial}{\partial K_{kl}}$$

Let us use the operator Y_α . Its first three prolongations have the coefficients

$$\begin{aligned} \zeta^{K_t} &= \alpha^{(3)} - K_x \alpha', & \zeta^{K_x} &= 0, \\ \zeta^{K_{tt}} &= \alpha^{(4)} - K_x \alpha'' - 2K_{xt} \alpha', & \zeta^{K_{xt}} &= -K_{xx} \alpha', & \zeta^{K_{xx}} &= 0, \\ \zeta^{K_{ttt}} &= \alpha^{(5)} - K_x \alpha^{(3)} - 3K_{xt} \alpha'' - 3K_{xtt} \alpha', \\ \zeta^{K_{xtt}} &= -K_{xx} \alpha'' - 2K_{xxt} \alpha', & \zeta^{K_{xxt}} &= -K_{xxx} \alpha', & \zeta^{K_{xxx}} &= 0, \end{aligned}$$

and other prolongations of k th order give

$$\zeta^{K_{k0}} = 0, \quad \zeta^{K_{0k}} = \alpha^{(k+2)} + a_k \alpha^{(k)} + \dots, \quad \zeta^{K_{ls}} = b_s \alpha^{(s)} + \dots, \quad (l \geq 1, l+s = k)$$

with some functions a_k and b_s which do not depend on α and its derivatives.

Let us use the operator Y_γ . Then the first and the second prolongations are defined by the coefficients:

$$\begin{aligned} Y_\gamma &= 2\gamma \frac{\partial}{\partial t} + \gamma' x \frac{\partial}{\partial x} + (x\gamma''' - 3\gamma'K) \frac{\partial}{\partial K} \\ \zeta^{K_t} &= x\gamma^{(4)} - 3\gamma''K - 5\gamma'K_t - \gamma''xK_x, \\ \zeta^{K_x} &= \gamma^{(3)} - 4\gamma'K_x, \\ \zeta^{K_{tt}} &= x\gamma^{(5)} - 3\gamma'''K - 8\gamma''K_t - \gamma'''xK_x - 7\gamma'K_{tt} - 2\gamma''xK_{xt}, \\ \zeta^{K_{xt}} &= \gamma^{(4)} - 4\gamma''K_x - 6\gamma'K_{xt} - \gamma''xK_{xx}, \\ \zeta^{K_{xx}} &= -5\gamma'K_{xx}, \end{aligned}$$

Notice that other prolongations give that

$$\zeta^{K_{s0}} = -(s+3)\gamma', \quad (s \geq 3).$$

Let us assume that an invariant J does not depend on the derivatives K_{kl} , where $l \geq 1$. Then the equation $Y_\alpha J = 0$ is identically satisfied, and the equation $Y_\gamma J = 0$ becomes

$$-\gamma^{(3)} \frac{\partial J}{\partial K_x} + \gamma' \left(4K_x \frac{\partial J}{\partial K_x} + 5K_{xx} \frac{\partial J}{\partial K_{xx}} + \sum_{l \geq 3} (l+3)K_{l0} \frac{\partial J}{\partial K_{l0}} \right) = 0.$$

This gives that $\frac{\partial J}{\partial K_x} = 0$, and any solution of the equation

$$5K_{xx} \frac{\partial J}{\partial K_{xx}} + \sum_{l \geq 3} (l+3)K_{l0} \frac{\partial J}{\partial K_{l0}} = 0$$

gives an invariant. The characteristic system of this equation is

$$\frac{d K_{xx}}{5K_{xx}} = \frac{d K_{xxx}}{6K_{xxx}} = \frac{d K_{xxxx}}{7K_{xxxx}} = \dots$$

Further we use the following statements that can be easily proved by using the above prolongations of the generators (6).

Lemma.

The equation

$$K_{xx} = 0 \tag{7}$$

is invariant under equivalence transformations with the generators (2) and (3).

Proof. Since the coefficients $\zeta^{K_{xx}}$ in the prolongations of the generators Y_σ and Y_α vanish, the transformations corresponding to these operators do not change the derivative K_{xx} . Furthermore, the transformation of K_{xx} corresponding to the generator Y_γ is defined by two terms:

$$Y_\gamma = 2\gamma \frac{\partial}{\partial t} \zeta^{K_{xx}} - 5\gamma' K_{xx} \frac{\partial}{\partial K_{xx}} \dots$$

Hence, the transformation corresponding to the generator Y_γ just scales the derivative K_{xx} with some function depending on t . This also does not change the property (7). This completes the proof.

Theorem 1. Eq. (1) can be mapped to the heat equation by the general group of equivalence transformations with the generators (2) and (3) if and only if the semi-invariant K of Eq. (1) satisfies the Eq. (7).

Proof. According to (2) and (3), the equivalence transformations comprise the linear transformation of the dependent variable:

$$v = V(x, t)u \tag{8}$$

with an arbitrary function $V(x, t) \neq 0$ and the change of the independent variables

$$\tau = H(t), \quad y = x \varphi_1(t) + \varphi_0(t), \tag{9}$$

where $\varphi_1(t) \neq 0$ and $H(t)$ is defined by the equation

$$H'(t) = \varphi_1^2(t). \tag{10}$$

The requirement that the transformations (8) and (9) map the equation

$$v_\tau - v_{yy} + b_2(y, \tau)v_y + b_3(y, \tau)v = 0 \tag{11}$$

into the heat equation

$$u_t - u_{xx} = 0 \tag{12}$$

yields the following equations:

$$\begin{aligned} 2H'V_x\varphi_1 + (x\varphi_1' + \varphi_0' - H'b_2)\varphi_1^2V &= 0, \\ H'V_{xx}\varphi_1 - H'V_x\varphi_1^2b_2 - H'\varphi_1^3b_3V - V_t\varphi_1^3 + (x\varphi_1' + \varphi_0')V_x\varphi_1^2 &= 0. \end{aligned} \tag{13}$$

The problem is to find the conditions for the coefficients $b_2(\tau, y)$, $b_3(\tau, y)$ that guarantee existence of the functions $V(t, x)$, $H(t)$, $\varphi_0(t)$ and $\varphi_1(t)$. To solve this problem, we have to investigate the compatibility of the overdetermined system of partial differential Eq. (13). To this end, we note that Eq. (13) yield

$$\begin{aligned} V_x &= \frac{\varphi_1 V}{2H'}(-\varphi_0' - \varphi_1'x + H'b_2), \\ V_t &= \frac{V}{4H'\varphi_1}[-\varphi_1'^2\varphi_1x^2 + 2\varphi_1'\varphi_1x(H'b_2 - \varphi_0') + \varphi_1(H'^2(2b_{2y} - b_2^2 - 4b_3) - \varphi_0'^2 + 2\varphi_0'H'b_2) - 2\varphi_1'H']. \end{aligned}$$

Equating the mixed derivatives, $(V_t)_x = (V_x)_t$, we find

$$H'^3K = \varphi_0''H' - \varphi_0'H'' + x(\varphi_1''H' - \varphi_1'H'') = 0$$

or

$$K = \varphi_1^{-6} \left(y(\varphi_1''\varphi_1 - 2\varphi_1'^2) + \varphi_0''\varphi_1^2 - 2\varphi_0'\varphi_1'\varphi_1 - \varphi_1''\varphi_0\varphi_1 + 2\varphi_1'^2\varphi_0 \right).$$

Thus, the semi-invariant K of the equations that are equivalent to the heat equation has to be linear with respect to y , i.e. satisfy the equation $K_{yy} = 0$.

Conversely, let us assume that the condition $K_{yy} = 0$ is satisfied for Eq. (11), i.e.

$$K = y\phi_1(\tau) + \phi_0(\tau). \quad (14)$$

Choosing $H(t)$, $\varphi_0(t)$ and $\varphi_1(t)$ satisfying the Eq. (9) and

$$\varphi_1'' = 2\frac{\varphi_1^2}{\varphi_1} + \varphi_1^5\phi_1, \quad \varphi_0'' = 2\varphi_0'\frac{\varphi_1'}{\varphi_1} + \varphi_1^4(\phi_1\varphi_0 + \phi_0) \quad (15)$$

one can transform Eq. (11) into the heat equation. This completes the proof.

Example. Consider the equation

$$v_\tau - v_{yy} + \frac{y}{3\tau}v_y = 0. \quad (16)$$

It has the form (11) with

$$b_2 = \frac{y}{3\tau}, \quad b_3 = 0.$$

The semi-invariant (4) for Eq. (16) is

$$K = -\frac{2y}{9\tau^2}.$$

It has the form (14) with

$$\phi_1 = -\frac{2}{9\tau^2}, \quad \phi_2 = 0. \quad (17)$$

Let us investigate reducibility of Eq. (16) to the heat Eq. (12) by the change of the independent variables (9) without changing the dependent variable, i.e. by letting $V = 1$ in (8). Then Eq. (13) reduce to one equation

$$x\varphi_1' + \varphi_0' - H'b_2 = 0.$$

Substituting here the expression of b_2 and using Eqs. (9) and (10), we obtain:

$$x\varphi_1'(t) + \varphi_0'(t) - \varphi_1^2\frac{x\varphi_1(t) + \varphi_0(t)}{3H(t)} = 0.$$

Upon separating the variables, this equations splits into two equations:

$$\varphi_1' - \frac{\varphi_1^3}{3H} = 0$$

and

$$\varphi_0' - \frac{\varphi_0\varphi_1^2}{3H} = 0.$$

We rewrite the first equation in the form

$$H(t) = \frac{\varphi_1^3(t)}{3\varphi_1'(t)} \quad (18)$$

and satisfy the second equation by letting $\varphi_0 = 0$. Differentiating (18) and using (10), we obtain

$$\frac{\varphi_1^3}{3\varphi_1'}\varphi_1'' = 0,$$

whence $\varphi_1'' = 0$. Thus, $\varphi_1(t) = pt + q$ We take for the simplicity $q = 0$ and obtain

$$\varphi_1(t) = pt, \quad p = \text{const.}$$

Then Eqs. (18), (9) and (17) yield:

$$\tau = H(t) = \frac{p^2t^3}{3}, \quad \phi_1 = -\frac{2}{p^4t^6}.$$

Now one can readily verify that Eq. (15) are satisfied for arbitrary p . We take $p = 1$ and obtain the following change of variables transformation Eq. (16) to the heat equation:

$$\tau = \frac{1}{3}t^3, \quad y = tx, \quad v = u. \quad (19)$$

Remark. In the case of three-coefficient representation of parabolic equations the test for reduction to the heat equation is more complicated, see, e.g. [5].

Further we will consider Eq. (1) that are not equivalent to the heat equation. In other words, taking into account Lemma 2, we will assume that $K_{xx} \neq 0$. This assumption allows us to obtain the invariants

$$K_{l0}K_{xx}^{-(l+3)/5}, \quad (l \geq 3). \tag{20}$$

The reckoning shows the following operator is an invariant differentiation:

$$\mathcal{D} = \frac{1}{K_{xx}^{1/5}}D_x \tag{21}$$

Moreover, we can easily see that applying the invariant differentiation (21) to the invariant corresponding to $l = 3$:

$$J_* = \frac{K_{xxx}}{K_{xx}^{6/5}}, \tag{22}$$

we obtain all invariants (20). Hence (22), provides a basis of these invariants.

Theorem 2. The operator (21), $\mathcal{D} = K_{xx}^{-1/5}D_x$, is an invariant differentiation.

Proof. Let J be a differential invariant, i.e.

$$XJ = 0.$$

Recall that the coefficients of the generator X are

$$\xi = \alpha + \gamma'x, \quad \eta = 2\gamma, \quad \zeta^{K_{xx}} = -5\gamma'K_{xx}.$$

Notice also that

$$X(K_{xx}^{-1/5}) - K_{xx}^{-1/5}D_x\xi = 0. \tag{23}$$

Using the identity (see [6])

$$D_x(XF) = X(D_xF) + D_x\xi D_xF + D_x\eta D_tF$$

valid for any function F one has

$$X(K_{xx}^{-1/5}D_xJ) = (D_xJ)X(K_{xx}^{-1/5}) + K_{xx}^{-1/5}(D_x(XJ) - D_x\xi D_xJ - D_x\eta D_tJ). \tag{24}$$

Note that $XJ = 0$ because J is an invariant, and $D_x\eta = 0$ because $\eta = 2\gamma(t)$. Therefore Eq. (24) becomes

$$X(K_{xx}^{-1/5}D_xJ) = (X(K_{xx}^{-1/5}) - K_{xx}^{-1/5}D_x\xi)D_xJ.$$

Now we use Eq. (23) and obtain the proof of the theorem:

$$X(K_{xx}^{-1/5}D_x(J)) = 0.$$

1.3. Fourth-order invariants

Splitting the equations $Y_{\alpha}J = 0$ and $Y_{\gamma}J = 0$ with respect to the functions α, γ , and their derivatives, one obtains that¹

$$J(K, K_x, K_{xx}, K_{xxx}, K_{xxt}, K_{xxxx}, K_{xxxt}, K_{xxtt})$$

and these equations are

$$\begin{aligned} \frac{\partial J}{\partial K} - K_{xxx} \frac{\partial J}{\partial K_{xxtt}} &= 0, & \frac{\partial J}{\partial K_x} - 5K_{xx} \frac{\partial J}{\partial K_{xxtt}} &= 0, \\ 7K_{xxxx} \frac{\partial J}{\partial K_{xxxx}} + 6K_{xxx} \frac{\partial J}{\partial K_{xxx}} + 5K_{xx} \frac{\partial J}{\partial K_{xx}} + 4K_x \frac{\partial J}{\partial K_x} + 3K \frac{\partial J}{\partial K} + 8K_{xxxt} \frac{\partial J}{\partial K_{xxxt}} + 7K_{xxt} \frac{\partial J}{\partial K_{xxt}} + 9K_{xxtt} \frac{\partial J}{\partial K_{xxtt}} &= 0, \\ 6K_{xxx} \frac{\partial J}{\partial K_{xxxt}} + 12K_{xxt} \frac{\partial J}{\partial K_{xxtt}} + 5K_{xx} \frac{\partial J}{\partial K_{xxt}} &= 0, & K_{xxxx} \frac{\partial J}{\partial K_{xxxt}} + 2K_{xxxt} \frac{\partial J}{\partial K_{xxtt}} + K_{xxx} \frac{\partial J}{\partial K_{xxt}} &= 0. \end{aligned}$$

This system of equations is a complete system. Solving the first four equations, this system becomes

$$(5J_2 - 6J_1^2) \frac{\partial J}{\partial z_2} + 10z_2 \frac{\partial J}{\partial z_1} = 0,$$

¹ Here the order is the maximal order of derivatives of K involved in the invariant.

where $J(J_1, J_2, z_1, z_2)$ and

$$J_1 = K_{xx}^{-6/5} K_{xxx}, \quad J_2 = K_{xx}^{-7/5} K_{xxxx}, \quad z_1 = K_{xx}^{-14/5} \left(K_{xx}(K_{xxtt} + KK_{xxx} + 5K_x K_{xx}) - \frac{6}{5} K_{xxt}^2 \right), \quad z_2 = K_{xx}^{-13/5} \left(K_{xx} K_{xxxx} - \frac{6}{5} K_{xxt} K_{xxx} \right).$$

Notice that

$$(5J_2 - 6J_1^2) = K_{xx}^{-12/5} (5K_{xx} K_{xxxx} - 6K_{xxx}^2).$$

If it is assumed that

$$5K_{xxxx} K_{xx} - 6(K_{xxx})^2 \neq 0, \tag{25}$$

then the invariants are

$$J_1, J_2, (5J_2 - 6J_1^2)z_1 - 5z_2^2.$$

If one assumes that

$$5K_{xxxx} K_{xx} - 6(K_{xxx})^2 = 0, \tag{26}$$

then the invariants are defined by the equation

$$z_2 \frac{\partial J}{\partial z_1} = 0.$$

This means that: (a) if $z_2 = 0$, then the invariants are

$$J_1, J_2, z_1;$$

(b) if $z_2 \neq 0$, then the invariants are

$$J_1, J_2, z_2.$$

The invariants which do not depend on any conditions are only the invariants (20). Notice that the properties (25), (26) and $z_2 = 0$ or $z_2 \neq 0$ are invariant.

The obtained result confirms solutions obtained in [7] for invariants with three coefficients in a linear parabolic equation.

2. One-coefficient representation of parabolic equations

One can transform Eq. (1) to the equation (this representation was already known in the classical literature, see, e.g. [1])

$$u_t - u_{xx} + c(t, x)u = 0 \tag{27}$$

with one-coefficient $c = c(x, t)$ by using the linear transformation

$$v = ue^{\rho(x,t)}$$

of the dependent variable, where $\rho(t, x)$ is defined by (see Eq. (3.7) in [3])

$$2\rho + a(x, t) = 0.$$

2.1. Equivalence transformations

The equivalence group for Eq. (27) is defined by the generator

$$8\gamma \frac{\partial}{\partial t} + 4(\gamma'x + 2\alpha) \frac{\partial}{\partial x} + u(2\beta - \gamma''x^2 - 4\alpha'x) \frac{\partial}{\partial u} + (\gamma'''x^2 - 2\gamma'' + 4\alpha''x - 2\beta' - 8\gamma'c) \frac{\partial}{\partial c}$$

spanned by the following three generators:

$$\begin{aligned} X_3 &= 8\gamma \frac{\partial}{\partial t} + 4\gamma'x \frac{\partial}{\partial x} - u\gamma''x^2 \frac{\partial}{\partial u} + (\gamma'''x^2 - 2\gamma'' - 8\gamma'c) \frac{\partial}{\partial c}, \\ X_2 &= 2\alpha \frac{\partial}{\partial x} - u\alpha'x \frac{\partial}{\partial u} + \alpha''x \frac{\partial}{\partial c}, \\ X_1 &= \beta u \frac{\partial}{\partial u} - \beta' \frac{\partial}{\partial c}, \end{aligned} \tag{28}$$

where γ, α and β are arbitrary functions of t .

We use the prolongations of the generator

$$X = \zeta \frac{\partial}{\partial t} + \eta \frac{\partial}{\partial x} + \zeta \frac{\partial}{\partial u} + \zeta^c \frac{\partial}{\partial c} + \zeta^{c_t} \frac{\partial}{\partial c_t} + \zeta^{c_x} \frac{\partial}{\partial c_x} + \zeta^{c_{tt}} \frac{\partial}{\partial c_{tt}} + \zeta^{c_{xt}} \frac{\partial}{\partial c_{xt}} + \zeta^{c_{xx}} \frac{\partial}{\partial c_{xx}} + \zeta^{c_{ttt}} \frac{\partial}{\partial c_{ttt}} + \zeta^{c_{xtt}} \frac{\partial}{\partial c_{xtt}} + \zeta^{c_{xtx}} \frac{\partial}{\partial c_{xtx}} + \zeta^{c_{xxx}} \frac{\partial}{\partial c_{xxx}} + \dots$$

It is better to use the notation

$$c_{kl} = \frac{\partial^{k+l} c}{\partial x^k \partial t^l}.$$

Then the form of the generator becomes

$$X = \zeta \frac{\partial}{\partial t} + \eta \frac{\partial}{\partial x} + \zeta \frac{\partial}{\partial u} + \zeta^c \frac{\partial}{\partial c} + \zeta^{c_t} \frac{\partial}{\partial c_t} + \zeta^{c_x} \frac{\partial}{\partial c_x} + \sum_{k,l} \zeta^{c_{kl}} \frac{\partial}{\partial c_{kl}}.$$

2.2. Invariants

Let us use the operator X_1 . Then the first prolongation is defined by the coefficients

$$\zeta^{c_t} = -\beta^{(2)}, \quad \zeta^{c_x} = 0,$$

and other prolongations of k th order give

$$\zeta^{c_{0k}} = -\beta^{(k+1)}, \quad \zeta^{c_{ls}} = 0, \quad (l \geq 1, l + s = k).$$

Splitting with respect to the derivatives of the function $\beta(t)$ the equation for invariants

$$X_1^{(k)} J = 0,$$

we immediately come to the conditions that the invariant J does not depend on the derivatives

$$c_{0k}, \quad (k \geq 1).$$

Hence, further the coefficients $\zeta^{c_{0k}}$ are not necessary to be calculated. Splitting with respect to β' also excludes c from the invariant J . Let us use the operator X_2 . Then the first and the second prolongations are defined by the coefficients:

$$\zeta^{c_x} = \alpha'', \quad \zeta^{c_{xt}} = \alpha^{(3)} - 2\alpha' c_{xx}, \quad \zeta^{c_{xx}} = 0, \quad \zeta^{c_{xtt}} = \alpha^{(4)} - 2\alpha'' c_{xx} - 4\alpha' c_{xxt}, \quad \zeta^{c_{xxt}} = -2\alpha' c_{xxx}, \quad \zeta^{c_{xxx}} = 0.$$

In the k th prolongation the maximal order of the derivative $\alpha^{(k+1)}$ will be in the coefficient $\zeta^{c_{(k-1)1}}$. Hence, the invariant J does not depend on the derivatives

$$c_{(k-2)1}, \quad c_{(k-1)1}.$$

If one assumes that the invariant J does not depend on

$$c_{sl}, \quad (l \geq 1, s + l = k \geq 2),$$

then the term with α'' in the equation $X_2 J = 0$ gives $\frac{\partial J}{\partial c_x} = 0$. Hence, the invariant can only depend on

$$c_{xx}, \quad c_{xxx}, \quad c_{xxxx}, \dots, \quad c_{k0}.$$

Let us use the operator X_3 . The prolongations are defined by the coefficients:

$$\begin{aligned} \zeta^{c_x} &= 2x\gamma''' - 12\gamma'c_x, & \zeta^{c_t} &= x^2\gamma^{(4)} - 2\gamma^{(3)} - 4\gamma''xc_x - 8\gamma'c - 16\gamma'c_t, \\ \zeta^{c_{xx}} &= 2\gamma''' - 16\gamma'c_{xx}, & \zeta^{c_{xt}} &= 2x\gamma^{(4)} - 4\gamma''xc_{xx} - 12\gamma''c_x - 20\gamma'c_{xt}, \\ \zeta^{c_{30}} &= -20\gamma'c_{xxx}, & \zeta^{c_{40}} &= -24\gamma'c_{40}, \quad \zeta^{c_{50}} = -28\gamma'c_{50}, \dots \end{aligned}$$

Splitting the equation $X_3 J = 0$ with respect to the derivative γ''' , one obtains $\frac{\partial J}{\partial c_{xx}} = 0$. The equation $X_3 J = 0$ becomes

$$5c_{xxx} \frac{\partial J}{\partial c_{xxx}} + \sum_{k \geq 4} (k+2)c_{k0} \frac{\partial J}{\partial c_{k0}} = 0.$$

For solving this equation one needs to solve the characteristic system of equations

$$\frac{dc_{xxx}}{5c_{xxx}} = \frac{dc_{xxxx}}{6c_{xxxx}} = \frac{dc_{xxxxx}}{7c_{xxxxx}} = \dots$$

Note that the Eq. (27) with the coefficient $c(t, x)$ satisfying the condition $c_{xxx} = 0$ are equivalent to the heat equation. Hence, for the equations that are not equivalent to the heat equation all invariants not depending on c_{kl} ($l \geq 1$) are given by

$$c_{k0} c_{30}^{-(k+2)/5}, \quad k \geq 4. \tag{29}$$

Thus, the basis of differential invariants (29) consists of the invariant

$$J = \frac{c_{xxxx}}{(c_{xxx})^{6/5}} \tag{30}$$

and the operator of invariant differentiation is

$$\mathcal{D} = c_{xxx}^{-1/5} D_x. \quad (31)$$

Proceeding as in the case of two-coefficients, we arrive at the following statement.

Theorem 3. *The operator \mathcal{D} given by (31) is an operator of invariant differentiation. Hence, all invariants (29) are obtained from the invariant (30) by the invariant differentiation (31).*

References

- [1] Lie, S. Über die Integration durch bestimmte Integrale von einer Klasse linearer partieller Differentialgleichungen. Archiv for Matematik og Naturvidenskab (Abbr Arch Math), vol. 6(3), 1881, p. 328–68; N.H. Ibragimov (Ed.), CRC handbook of lie group analysis of differential equations (Eng. Trans.), vol. 2, CRC Press, Boca Roton; 1995. Reprinted also in the book Lie group analysis: classical heritage, N.H. Ibragimov (Ed.), ALGA Publications, Karlskrona; 2004. p. 1–64.
- [2] Ibragimov NH. Laplace type invariants for parabolic equations. Nonlin Dyn 2002;8(2):125–33.
- [3] Ibragimov NH. Euler's integration method for linear hyperbolic equations and its extension to parabolic equations. Arch ALGA 2008;5:63–120.
- [4] Ibragimov NH. Extension of Euler's method to parabolic equations. Commun Nonlin Sci Numer Simul 2008:1–19. doi:10.1016/j.cnsns.2008.04.010.
- [5] Johnpillai IK, Mahomed FM. Singular invariant equation for the (1 + 1) Fokker–Planck equation. J Phys A: Math General 2001;34:11033–51.
- [6] Ovsiannikov LV. Group analysis of differential equations. Moscow: Nauka; 1978. Ames WF. (Ed.), English translation, Academic Press: New York; 1982.
- [7] Ibragimov NH, Meleshko SV, Thailert E. Invariants of linear parabolic differential equations. Commun Nonlin Sci Numer Simul 2008;13:277–84.